Frib = EE AR RN
bt h A E SRl = EHE R RN

I &= Y
hEE R B 1065
B rET
= =| TH 5 % A= L% R
=] OE
=4 1 N - (:_Egg %
81 EHIEB R E
811 AHAfBER(EAL—) -850,000 5,386,413 6,236,413 -733.70
812 s EH < IH H -640,150 -640,150
8124 JRBNE I FIECFR—) -640,150 -640,150
813 EHEBN IR ACHKE— -850,000 4,746,263 5,596,263 -658.38
82 HAMy BBy 2 B GRS
82D kR HAE S K HoAth & fE -1,099,466 -1,099,466
827 HAtIES 2 IFH SR ACKRE— -1,099,466 -1,099,466
83 TG R 4 E 4 7 SR CH IR —) -850,000 3,646,797 4,496,797 -529.03
84 HAWIIR G AT E TR E 12,570,986 10,329,955 2,241,031 -17.83
85 HARTIH 4 I 4 TH 4 11,720,986 13,976,752 2,255,766 19.25

13383-1



